

REPUBLIC OF THE PHILIPPINES

NATIONAL DISASTER RISK REDUCTION AND MANAGEMENT COUNCIL

National Disaster Risk Reduction and Management Center, Camp Aguinaldo, Quezon City, Philippines

National Disaster Risk Reduction and Management Council INCIDENTS MONITORED

Final Report for the Fire Incident in Tagum City, Davao del Norte (Region XI)

DATE OF INCIDENT	May 05, 2025
TIME OF INCIDENT	11:35 am
DATE ISSUED	May 16, 2025
TIME ISSUED	11:00 am
OVERVIEW	On 05 May 2025 at around 11:35AM, a fire incident occurred at Purok Tadena, Brgy. Mankilam, Tagum City. The fire was under control at 12:42 PM and fire out was declared by the BFP XI at 4:18 PM. The fire originated from an open flame introduced by children playing with ignited matchstick which led to ignition of a foam mattress.

Prepared by: Herschey Ross Cole

Noted by: Franz N. Irag, Chief, Operations Section

Approved by: Ednar Gempesaw Dayanghirang, Regional Director

AFFECTED POPULATION

A total of 122 families or 263 persons were affected. Of which, 0 families or 0 persons were served inside 0 ECs and 0 families or 0 persons were served outside ECs:

Affected	AFFECTED			INSIDE ECs		OUTSIDE ECs		
Provinces	Brgy	Families	Persons	No. of ECs	Families	Persons	Families	Persons
TOTAL	1	122	263	0	0	0	0	0
DAVAO DEL NORTE	1	122	263	0	0	0	0	0

Note: Decrease in figures of Affected Persons is due to validation.

DAMAGED HOUSES

A total of 119 damaged houses are reported in DAVAO CITY.

REGION	PARTIALLY	TOTALLY	TOTAL	AMOUNT (PHP)		
GRAND TOTAL	2	117	119	1,042,500		
DAVAO CITY	2	117	119	1,042,500		

Source: DSWD XI and BFP XI

ASSISTANCE PROVIDED TO AFFECTED FAMILIES

	NO OF FAMILIES REQUIRING ASSISTANCE	COST OF ASSISTANCE	NO OF FAMILIES ASSISTED	% OF FAMILIES ASSISTED	
GRAND TOTAL	122	3,205,634	122	100.00	
DAVAO CITY	122	3,205,634	122	100.00	

Affected Population

REGION PROVINCE CITY/		NO.	OF AFFEC	TED	No. of	f ECs	Ir	Inside Evacuation Centers			Outside Evacuation Centers				TOTAL SERVED				
MUNICIPALITY BARANGAY																(Inside + Outside)			
		Brgys.	Families	Persons				Families		Persons		Families		ons	Families		Persons		
					CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	
GRAND TOTAL	1	1	122	263	1	0	112	0	263	0	0	0	0	0	112	0	263	0	
REGION 11	1	1	122	263	1	0	112	0	263	0	0	0	0	0	112	0	263	0	
DAVAO DEL NORTE	1	1	122	263	1	0	112	0	263	0	0	0	0	0	112	0	263	0	
Tagum	1	1	122	263	1	0	112	0	263	0	0	0	0	0	112	0	263	0	
Mankilam		1	122	263	1	0	112	0	263	0	0	0	0	0	112	0	263	0	

Note: Decrease in figures of Affected Persons is due to validation.

Damaged Houses

REGION PROVINCE CITY/ MUNICIPALITY BARANGAY		NO. OF DAMAGED HOUSES		AMOUNT (PHP)	REMARKS
	TOTALLY	PARTIALLY	GRAND TOTAL		
GRAND TOTAL	117	2	119	1,042,500	
REGION 11	117	2	119	1,042,500	
DAVAO CITY	117	2	119	1,042,500	
Davao City	117	2	119	1,042,500	
Lubogan	117	2	119	1,042,500	

Source: DSWD XI and BFP XI

Assistance Provided to Affected Families

REGION PROVINCE CITY		NO. OF	NEEDS	NO. OF		ı	F/NFIs PROVIDED		NO. OF	% OF	REMARKS	
/MUNICIPALITY BARANGAY		FAMILIES AFFECTED		FAMILIES REQUIRING ASSISTANCE	QTY	UNIT	COST PER UNIT	AMOUNT	SOURCE	FAMILIES ASSISTED	FAMILIES ASSISTED	
GRAND TOTAL	6	122		122			7,997	3,205,634		122	100.00	
REGION 11	6	122		122			7,997	3,205,634		122	100.00	
DAVAO CITY	6	122		122			7,997	3,205,634		122	100.00	
Davao City	6	122		122			7,997	3,205,634		122	100.00	
		122	Family Food Packs	122	122	pack	715	87,230	DSWD	122	100.00	
		0	Family Kits	0	122	kit	2,628	320,616	DSWD	0	0	
		0	Kitchen Kits	0	122	kit	1,778	216,916	DSWD	0	0	

	REGION PROVINCE CITY /MUNICIPALITY BARANGAY	NO. OF FAMILIES AFFECTED	NEEDS	NO. OF FAMILIES REQUIRING ASSISTANCE		F	/NFIs PROVIDED		NO. OF	% OF	REMARKS	
/MI					QTY	UNIT	COST PER UNIT	AMOUNT	SOURCE	FAMILIES ASSISTED	FAMILIES ASSISTED	
		0	Sleeping Kits	0	122	kit	1,378	168,116	DSWD	0	0	
		0	Hygiene Kits	0	122	kit	1,498	182,756	DSWD	0	0	
		0	F/NFIs	0			0	2,230,000	CLGU	0	0	

Final Report for the Fire Incident in Tagum City, Davao del Norte (Region XI) ACTIONS TAKEN

Region 11

OCD XI

- Monitored and coordinated with Tagum CDRRMO for situation updates.

BFP XI - Tagum

- Conducted fire suppression; and
- Conducted investigation of the incident.

DOH XI

- Allocated medicines, supplies and IECs to affected families.

Tagum CDRRMO

- Coordinated with CSWDO for the provision of immediate assistance to the affected families;
- Provided water tanker for hygiene purposes;
- Deployed Emergency Medical Services (EMS) to ensure safety and address medical concerns of the affected families; and
- Coordinated with BFP, CSWDO and BLGU Mankilam for consolidation of data.

Tagum CSWDO

- Conducted profiling of fire victims;
- Distributed food packs, used clothing, and hot meals;
- Provided modular tents to evacuees; and
- Requested additional food and non-food items to the DSWD XI.

Tagum CHO

- Monitored health and distributed medicines to affected families;
- Conducted disease prevention and sanitation efforts; and
- Conducted stress debriefing program.